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(a) Explain briefly how the Landau-Ginzburg approach extends Landau’s theory of
phase transitions.

(b) Consider a theory involving a real scalar field φ(x) in d dimensions with a free
energy functional of the form

F [φ] =
1

2

∫
ddx
[
γ∇φ · ∇φ+ µ2 φ2

]
,

where µ2 ∼ (T − Tc) and γ > 0.

(i) Show that

F [φk] =
1

2

∫
ddk

(2π)d

[
γk2 + µ2

]
|φk|2 ,

where

φ(x) =

∫
ddk

(2π)d
eik·x φk .

(ii) Show that this free energy leads to a heat capacity per unit volume,

c =
1

2

∫
ddk

(2π)d

[
1− g(T )

γk2 + µ2
+

h(T )

(γk2 + µ2)2

]
,

where g(T ) and h(T ) are functions of T that you should determine.

(iii) Hence argue that c ∼ |T − Tc|−α for T → T+
c when d < 4, where α is a

critical exponent that you should determine.

(c) Now instead consider a theory which has an effective free energy,

f(T,m) = a2(T )m2 + a3m
3 + a4m

4 ,

in the mean field approximation, where m is the magnetisation, a2(T ) ∼ (T − Tc), a3 6= 0
and a4 > 0. Find relations between the coefficients a2, a3 and a4 which determine whether
the state is ordered or disordered.

Can this system possess a second-order (continuous) phase transition? Can it
possess a first-order phase transition? You should justify your answers.
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Consider a theory involving a real scalar field φ in d dimensions with a free energy
of the form

F [φ] =

∫
ddx
[
1
2∇φ · ∇φ+ 1

2µ
2
0 φ

2 + . . .
]
. (∗)

(a) Describe the three steps of the renormalisation group procedure (in momentum
space) for such a free energy and explain how they result in a flow of the parameters in
the free energy. You should denote the original cutoff Λ and the new cutoff Λ/ζ.

(b) Now suppose that the free energy contains quadratic terms in φ, as in equation
(∗), along with

∼
∫
ddx gn,m φ

n
(
∇2φ

)m
,

where n and m are positive integers. What is the naive (engineering) dimension of
the coupling gn,m? Why might the scaling dimension differ from this? What must the
dimension d be (in terms of n and m) if the coupling is marginal?

(c) Now instead suppose that the free energy contains quadratic terms in φ, as in
equation (∗), along with

∼
∫
ddx
[
g0 φ

4 + λ0 φ
6
]
.

(i) Draw Feynman diagrams representing the corrections to µ2(ζ) from the
g0 φ

4 and λ0 φ
6 terms up to and including order g20, λ0g0, λ0.

(ii) Calculate the contributions ∼ λ0 and ∼ λ0g0 to the flow of the coupling,
µ2(ζ). [You may assume that 〈φ+

k
φ+
k′〉+ = (2π)d δ(d)(k + k′)G0(k), where

G0(k) = 1/(k2 + µ20), for appropriately defined φ+ and 〈. . .〉+, you may
use Wick’s theorem without proof, and you may leave your final answer in
integral form. You may ignore other corrections, including those from the
rescaling of the field.]
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Consider an O(N) model involving an N -component real field φ(x) in d dimensions
with free energy,

F1[φ] =

∫
ddx
[
1
2γ (∂iφa)(∂iφa) + 1

2µ
2φ · φ+ g (φ · φ)2

]
,

where γ > 0, g > 0, µ2 ∼ (T − Tc), φ · φ = φaφa, repeated indices are summed over,
i = 1, 2, . . . , d and a = 1, 2, . . . , N .

(a) Determine the mean field theory ground state of φ, φ0, for T > Tc and T < Tc.
Determine the number of gapless modes in each case and interpret this in the context of
any relevant symmetries.

(b) Determine the correlation function for the gapless mode, θ(x), in the O(2)
model, 〈θ(x)θ(y)〉, for T < Tc. [You may assume that for a real scalar field φ̃(x) with free
energy,

F̃ [φ̃] =

∫
ddx
[
1
2 γ̃∇φ̃ · ∇φ̃+ 1

2 µ̃
2 φ̃2

]
,

the correlation function is,
〈
φ̃(x)φ̃(y)

〉
=
∫

ddk
(2π)d

e−ik·(x−y)

γ̃k2+µ̃2
.] What is the correlation length?

Determine the asymptotic behaviour (r →∞) of 〈θ(x)θ(y)〉 as a function of r = |x− y|.
Using this determine whether an ordered phase will exist in d = 1, 2, 3, 4 and justify

your answer. What is the lower critical dimension?

(c) Now instead consider a 3-component real scalar field φ(x) in d dimensions with
free energy,

F2[φ] =

∫
ddx
[
1
2γ (∂iφa)(∂iφa) + 1

2µ
2 φ21 + 1

2λ
2 φ22 + 1

2λ
2 φ23 + g (φ · φ)2

]
,

where γ > 0, g > 0, µ2 6= 0, λ2 6= 0, φ · φ = φaφa, repeated indices are summed over,
i = 1, 2, . . . , d and a = 1, 2, 3. What are the symmetries of the free energy?

Determine the mean field theory ground state of φ and describe the pattern of
spontaneous symmetry breaking for each of the following cases:

(i) µ2, λ2 > 0,

(ii) µ2 < 0, λ2 > 0,

(iii) µ2 > 0, λ2 < 0,

(iv) µ2 = λ2 < 0.
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